BES—T NIV T (E25F8888 17:001RT)

: 5] = 1.7 0 050 | H23.7 N[ = (S H2411:EIIE1E
() L r— By b Hem il D ey (237w ) ;
[$1u - mSv/h J Gl 00809 /oy 049 = 0205003 )1 0‘?0 B (00 H24.6 BIEME | AERE |
| L EFE) .
A 0.10 E 0.1 | 0.8 f=== 1 3AI "m
0.070 .lws:w I S ~ 0 0.20 - 1.3 L2 Im imgl ?‘ﬁ&} 0 i — li:%ﬁ_:
y mrus D [ E:."‘ oL 4 HEE
py Eﬁ D'n: _‘ ‘f__. = Enink l | ﬂ ] o = 0.14 ' ] -
/ \ 7 7 x Y = =E5 18 ’ ! cHP 0o & e
sl I\ s 1 o 25 == ﬁ%% 85 k- oo BEGED
Aty [l rJ l\ s /K’/ Ne, | Jlr 5$~ Jas N — B === g F tE7 LET :'."'zr AL L]
0.050 Ve | r/r’|:| nghys / \ /S,%vu“,;, 4.0 F = oa ] w4 X = i 2585~7 BIES
DV ELE O 3 i (Jas77 i e Y " 43AH20 - e
s qussrniy; Fooe T, 0.1 oy 7 '0_301_1';;@ 0.40 ferzz2 {r’ \\‘ 131—!—\: i 1.5 -_—\_.—F/ ______ /{?}%
ATy 0.090 ; anrrann L O Sl T le®AT Y [l ~N e O I i (N J P
0065 G 00 L1 A€ 0.50 /o i PR 4.59) y 018
AR Uxicstns suae il . 7 Bame Yo £ T S HAAABERARE
. ) \ ql : Jm | ? BERE T BRE T B i 0.11 gL
0.20 ~ EELT.E4 | Fissauon ﬁi 12(?(_%@) ! 11031800 Ilde&&l 25(BHER) [Tt
' B s o — LI(BER)), L
- NN p— 11(— ). JE S— - — 0.01
. 2:. = 125000 F& :%I:EL 0.030 Werrops T 0.050 018
E-kazuz %g%%ag) i E::l leazy g - E_H_ *gizﬁeﬁéq
A ED i 0 oo GT) 1) [ e Vo pets
17(5?@5-2 zs 131[? slae - v ) ?.:““ — 1186(%%%%))
1 oj |8 s . m | | m [ | Rwse | LPL]
S, g —g 2.5 ' 0.90 7| (i Bk gy 0.070
: . - 3 - B ET) '
31 1.1 U 1 | 1.5(FBER)
: "j\\\c’\‘\“” I 1.1 J,r;-l e : 0§ ! _ - ‘x! f aalll RNEEGRRSFRTE
\\\\:\:\.{::m 52 ,} 7100,6 21 “, ;TEEI 1/-0 040 2”7” ‘l$- ’E g%ﬁa% 0.0
] " HEEN : w 4 11(5}@%)

050 0.070 5> WUALIUYE0

(WYEES  0.040 g 0.050

0.30
01 0 O’.ﬂl‘!’/# h‘

"y OGAEEY 7 | —_fv
R i R —f—

T | )\ \——=
VoK 2= | O
H,?‘ éf? 0.45 | 1 5(EES)
Ty 0.030
" B D0

0.20 !

=t & IEE ERW i ARby == 1.6(5RE &)
122 lhz2. 3. 26 . -




